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(iiiy Write the two main characteristic feature of 2.
malvaceae.
Tl B B & T fefea ‘ 3
(iv) Describe the type of stamens present in family
Asteraceae. 4
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(v) What is the batanical name of 'Pudina’.
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(vi) Write two advantages of self pollination. 5.
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(vii) Define double fertilization.

e 1 ORI 6.

(viii) What is Tetrasporangiate Anther?
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(ix) Give one example of one plant in which 7.
cheiropterophily occured?
3 g & M Ry, Sed o @ a
2T Bl
(x) Define Endosperm.
o S gRE
Section-B
" (Short Answer Questions)
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Note: Answer any 4 questions. Each answer should not
exceed 200 words. Each question carries 5 marks. 8
4x5=20 ‘
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Write short note on concept of species.

e B e OX e fewe e

Write short note on History of Taxonomy.

e & e TX Hi Rl feafeadi

Explain diagrammatically the floral diagram of family
Ranunculaceae.
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Write the name of five medicinal plants of family
solanaceac.: _
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Write short note on economic importance of family
Brassicaceae.
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Define following with example:
(A) Spadix inflorescence.

(B) Corymb inflorescence.

(C) Unibal inflorescence.

(D) Capitulum inflorescence
(E) Catkin inflorescence. :
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Explain the structure of ovule.
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Write short note on self incompatibility.
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